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THE RASAYANAM

Section 1 : MSQs - 50 Questions

1 When aluminium is treated with sodium hydroxide solution :

Ve Tegfian Y Qifeay gesiaurss Oid ¥ Iu=iid forar S 3

O Oxygen is liberated TR Hod Bt g

O Aluminium hydroxide is precipitated T gEgiaSsS afid gidr 8

O Hydrogen is liberated gT38IoH Had 8Idl §

O More than one of the above B'Cléiﬁ pefe) Th T s

O None of the above wjaa T PIs Tal

Correct: +2

2 Select the amphoteric oxide : SHUTYHT SHFES BT T FY:

O Cr)0;
O FeyO3
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O A1203
O More than one of the above SUdad H I U&h ¥ fUH

O None of the above G’Wj’ﬁ A DIs Tal

Correct: +2

3 The borax bead is composed of : IRa¥ s fafafad d a1 g ?
O B,03+NaBO,
O NayB407
O NayBO;3
O More than one of the above B'Clé?ﬁ A I TP I AP

O None of the above ITJdd & ¥ I3 ol

Correct: +2

4 The formula of borax is : SR BT A ?
O NayB40O7
O N32B4O7. 10H20

O N32B4O7.7H20
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O More than one of the above ITJdd & ¥ T ¥ HfAH

O None of the above BU?j?ﬁ T oIs T8

Correct: +2

5 Borax on heating with cobalt oxide forms a bead of : IR Plalee HFES B Y TH 31 R S §aq1 8¢
O Co(BO,),

O CoBO;

O Co3(BO3),
O More than one of the above wjaa A I TPH T 3D

O None of the above ITJdd | ¥ 13 ol
Correct: +2

6 The relative strengths of the boron halides as Lewis acids are in the order : ﬁﬁ 3 & g H IR %?I'I'E'gépf 3|
AafEres wergeh S A AT

O BBI'3 > BC13 > BF3
O BF3 > BC13 > BBI'3
O BC13 > BBI'3 > BF3

O More than one of the above B'Clé?ﬁ e Th J 3Hfp
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O None of the above B’Cl?iaﬂ T Pls Tal

Correct: +2
7 Electrolytic reduction of alumina to aluminium by Hall-Heroult process is carried out : Bid-gRiec il GRI
o1 Tegfitram o fagya srue-t o= a1 o 7
O In the presence of NaCINaCl &1 IufRifa &

O In the presence of fluorite q?ﬁ?'l%‘c' P! Iufufa |

In the presence of cryolite which forms a melt with lower melting temperature HISC &1 JuRRUfA T S &Y

© i ara faad ST %

O More than one of the above SUdad H I Udh ¥ P

O None of the above B’Cl?iTﬂ T Pls Tal
Correct: +2

8 Which one of the following is the correct statement? EeE R EIck: EIG gl %?
O Boric acid is a protonic acid NG 3+ Th MelfF® 3 %
O Beryllium exhibits coordination number six SRIAH T T B8 USRI Bl g

o Chlorides of both beryllium and aluminium have bridged chloride structure in solid phase SRferaH 3R
TG G & FARTSS H 314 3aRT H A FRIES W21 8l 8

O More than one of the above B'CREITH A AP I D

O None of the above B'E@Tﬁ AR
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Correct: +2

9 Property of catenation is strongest in : $Ge BT 0T T AP fHaH gran ?

O More than one of the above B'CREI?R-I A AP I D

O None of the above B'EPjTJH T Dls Tal
Correct: +2

10 Diamond and graphite are : BRI 3R ABIEE &:
O Isomers AT

O Isotopes RIS

O Allotropes 3TT&UAT
O More than one of the above SUdad H I T ¥ 3fUH

O None of the above B’Cl?iﬂ?[ H A oI5 el
Correct: +2

11 CCly is inert towards hydrolysis but SiCl, is readily hydrolyzed because : CCl, Sid 3/qe & ufd fAfSpa §
BT SiCl, S A o srgufed B =i § Fifs:
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o Carbon cannot expand its octet but silicon can expand its octet HTe- U FH BT fAR g1 B Tbal ?
qifehT FyTerepT ST 3y fIKiR B Fehell &

O Electronegativity of carbon is higher than of silicon %Te- @1 fadggd BTG RifdwmH & ga & SHfiE §

O lonization potential of carbon is higher than of silicon BT B ATIHROT & RifpA Bt Jo1 T 3 ?

O More than one of the above G'C@TH e Th T 3Hfp

O None of the above Bm:jaa T DI T8l
Correct: +2

12 The main constituents of water gas are : Sl N&F J&I ucdh &

O CO+H,0

O COy +Np

O CO+H,

O More than one of the above ITad & I Ud I 3HfAH

O None of the above SUdad & I H1s T8l

Correct: +2

13 The producer gas is composed of : SMIGH T4 fHud &1t il &:

O CHy+CO,

APP LINK

G

For More Test , Download “The Rasayanam" APP http://on-app.in/app/home?orgCode=wnoqi Page 6 of 31



https://example.com
http://on-app.in/app/home?orgCode=wnoqi
http://on-app.in/app/home?orgCode=wnoqi

O CH,+H,

O CO+N,

O More than one of the above SUdad & I Td ¥ 3fUH

O None of the above G’Cl?j?ﬁ A DIs Tal

Correct: +2

14 The main constituents of coal gas are : BRI Y & T UTH g

O CH, +CO + H,

O CO,+CO +H,

O CO +CO,

O More than one of the above B'Clé?ﬁ 73 UP I 3D

O None of the above ITJdd & ¥ I3 ol

Correct: +2

15 Zeolites are : fSisfiargey &

O Aluninosilicate Teg-HIRifcide
O Calcium aluminosilicate F e TGEFIRIAGE
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O Hydrated sodium aluninosilicate g¥gce NSTH TGAIRICIHC

O More than one of the above ITJad & ¥ U ¥ 3HfAH

O None of the above B'Cﬂj'CH HI DI Tl
Correct: +2

16 Which one of the following anions is present in the chain structure of silicates Fafefaa# & DI T 3G
Riferere Bt ggen S=T § HivE ¢

O (Si,052),

O (81205 )y

O Sio*

O More than one of the above SUddd § ¥ TH ¥ 3HTUH

O None of the above ST & ¥ BIs ol

Correct: +2
17 Among the following substituted silences the one which will give rise to cross linked silicone polymer on
hydrolysis is :
Fafafad ufaenfia wRdd & 3 98 S 9d sveed R 19 s Rt sgas I = ImaE g

O RySi

O RSiCl
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O R,SiCl,

O More than one of the above SUdad H I T& ¥ fUH

O None of the above G’Cl?j?ﬁ A DIs Tal

Correct: +2
18 The straight chain polymer is formed by : ¥ttt §Rae aga® 9 gRT §aT 8
o Hydrolysis of (CH3), SiCl, followed by condensation (CH3), SiCl, & Sd 3[qge & &G Ho
polymerization TEAD BRI
Hydrolysis of (CH3)5 SiCl followed by condensation (CHjz)3 SiCl & d 3{UYe b dlg g
@) N
polymerization CRSEAERY
Hydrolysis of CH3 SiCl; followed by condensation CHj; SiCly & e 3{UFS b dlc Yo
O o
polymerization FADIHR
O More than one of the above G'Cl'i}iaﬁ U9 TH 9 P
O None of the above BU@EH T Y Bl T8t
Correct: +2

19 Nitrogen is obtained on heating : TTH F%= UR TSSIoH I Bl 8
O NH4NO,
O KNO3
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O NH4NO;

O More than one of the above Iuddd ¥ I TH ¥ 3HTAH

O None of the above G’Cl?i?ﬁ A DIs Tal

Correct: +2

20 When phosphorus is heated with concentrated nitric acid the substance formed is :
O BIEpRY I Gig AISied S & 1y T {3 Srar § df a9 a1 uerd g

O HP02

O HPO3

O H3PO4

O More than one of the above B'Cl?i?ﬁ AT UP I 3D

O None of the above B’q?jTﬁ e IR

Correct: +2

21 In comparison to ammonia phosphine is SHIFIT Bt o H BB &
O More basic 3% &R
O Less basic $H &R

O Neutral 3Sr&H
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O More than one of the above ITjad & I Ud I 3HfIH

O None of the above BTRjTﬁ AR

Correct: +2

22 The substance which does not give ammonia when treated with water is :

T8 Uar off 51 9 SUAIRG HRA W SHIE1 78T ol &
O Mg;N;
O AIN
O Ca(CN),
O More than one of the above SUdad & I Td ¥ 3fH

O None of the above B’Cl?iTﬂ T Pls Tal
Correct: +2

23 Ammonia reacts with excess of chlorine to form : 3T TR BT ¥ & T AHfhaT HIP TTGT %:
O N2 and NH4C1
O NCl5 and HCI

O NH4C1 and NC13

O More than one of the above G'CPEIHH AI TP T 3
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O None of the above B’Cl?iaﬂ T Pls Tal

Correct: +2

24 On heating NH4NOj strongly is obtained : TH HE W NH4/NO; Usd =4 Y T BT §:
O N,O

O NHj

O Ny

O More than one of the above B’CPEIHH =k Th T 3

O None of the above STJdd & ¥ 15 ol

Correct: +2

25 When white % hosphorus is heated with caustic soda solution the compound formed are ‘5§ g BRHRY PI
o & W1y T fbar ST § o 994 ardl A ©:

O PH; + Na,HPO,
O PH; + Na,HPO,
O PHj + Na,HPO;
O More than one of the above SUdad H I Tdh ¥ fUH

O None of the above G’Cl?j?ﬁ A oI5 Tal
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26 Calcium%carbide when strongly heated with nitrogen forms : FfeRaH Fraigs &Y 1SgioH & 91y i ™
WEAdl &:

O Ca3N2

O Ca(CN),

O C&CNz

O More than one of the above wjaa AT ¥ AU

O None of the above ITJad & I @5 ol
Correct: +2

27 Nitrolim is used as nitrogenous fertilizer. Its composition is : FTSCITeTT HT IUTNT ASCIoH IIRP & ¥ H b
Tl 3 | 39! W &

O Ca3N2

O Ca(CN),

O C&CNz

O More than one of the above Iuddd § I TH ¥ 3HTAH

O None of the above G’Cl?i?ﬁ A oI5 Tal

Correct: +2

28 The catalyst used in Deacon’s process is : S®I- @1 UfshaT § TIa SOR® g
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O AlOs

O CuCl,

O AlCls

O More than one of the above SUdad H I Tdh ¥ fUH

O None of the above SUdad H ¥ H1s a8l

Correct: +2

29 The set with correct order of acidity is : 3FTdT & ! HH ATe IC &:

O HCIO < HCIO, < HCIO; < HCIO,

O HCIO, < HCIO, < HCIO, < HCIO

O HCIO < HCIO4 < HCIO; < HCIO,

O More than one of the above E“q?j?ﬁ =k Th T 3

O None of the above duiidd T DI T8l

Correct: +2

30 Number of three-centre two electron (3C— 2e) bonds present in diborane is:

STEER U diH-Bh% & Feiagi (3C- 2¢7) U B 4B &:
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O More than one of the above IuJdd ¥ I TH ¥ 3HTAH

O None of the above BTRjTﬁ AR

Correct: +2

31 Which of the following statements is incorrect regarding ByH? B,H, & Hdy # fafoifad & & o1 &1 &y
e 37

(, Banana bonds are longer but stronger than normal B—H bonds. & §¢ MG B—H §¢ ¥ 3{fIe% dd dfch
USd BId & |

O B,Hg is also known as 3C-2e compound B,H &I 3C-2e i & =0 o 1} ST offe §

It cannot be prepared by reacting BF5 with LiBH, in the present of dry ether Bl R[eh R & JufRfa o
© LiBH, & W1 BF; &t 3IfNohal SR (IR ! fodl off Wbl 5 |

O More than one of the above B'CIQEH e Th T 3ifep

O None of the above STJdd | ¥ HIs ol

Correct: +2

32 Which of the following is not ionic carbides? FEfIEd & ¥ & 41 rafie Frafss a8l 82

O C&Cz

O AlyCsy
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O SiC

O More than one of the above B'Clé?ﬁ e Th T 3Hfp

O None of the above duiidd T DI Tl
Correct: +2

33 Consider two reactions:

i. Zn+ conc. HNOj (hot) — Zn (NO3), + X + H,O
ii. Zn + dil. HNOj (cold) — Zn (NO3), + Y + H,O

Compounds X and Y are respectively &I 3fferarsfi &R fdaR &%

i. Zn+ ¥leg. HNO; (7137) — Zn (NO3), + X + H,0

ii. Zn + deJ. HNOj; (38T) — Zn (NO3), + Y + H,0

QS X AR Y B §

O N,0,NO

O NO,, N,O

O Ny, N,O

O More than one of the above B’CITjT:H =k Th T 3

O None of the above B’Cl?iaﬂ T Pls ol

Correct: +2

34 BaTi[Si3Og] is a class of: BaTi[Si;0g] TF T &:
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O Orthosilicate 3TITRIfeIhe

O Cyclic silicate Ish1a Rifcrare

O Chain silicate o Riferdbe

O More than one of the above ITYad & I T& ¥ 3P

O None of the above BTRjTﬁ HA DIs ol
Correct: +2

35 The value of n in the molecular formula Be,Al,Sic0;g is: 3T0fd® G Be,Al,Sic0;g H n HTAM 3

O More than one of the above wjaa =k Th T 3fYp

O None of the above dl-lgidd T DI T8l

Correct: +2

36 Hydrolysis of (CH3),SiCl, and CH3SiClj leads to: (CH3),SiCl, 3R CH3SiCl; & Sl 3{q€e 9 gidl ¢:
O Linear chain and cross-linked silicones, respectively $hHRI: RiEeEg PICK] 3R wry-foias RifereA

O Cross-linked and linear chain silicones, respectively HHSL: Hig-foias iR Igw y@a Rifeew

G
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O Linear chain silicones only %ad Rae yaa Rifca=

O More than one of the above B’q?j?ﬁf =k Th T 3P

O None of the above duiidd T DI Tl

Correct: +2
37 Iodine reacts with hot NaOH solution. The product is Nal and: 3RS T NaOH faaad & 9y sififehar ean
8131 Nal 3R

O NalOjy

O NaOl

O NaO,

O More than one of the above B’U{iﬂﬂ 49T ¥ AP

O None of the above SUdad T ¥ I3 gl

Correct: +2

38 Which of the following reactions does not give H;P0,? Fafiifad & & o1 It sififésan HyPO,, 18T el 82
O Ca3(PO4)2 + stO4 -
O P4O6 + Hzo -
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O More than one of the aboveSUdad & ¥ U ¥ 31fed

O None of the above B’q?jTﬁ AR

Correct: +2

39 Extra pure N, can be obtained on heating: TH 31 R sifafkad gs N, urad &

O NHj and CuO

O Ba(N3),

O (NH4)2CI'207

O More than one of the above I & I U& I 31fAH

O None of the above SUdad H ¥ H13 Tl

Correct: +2

40 Which of the following will act as a base in H,SO, among HC104, HNO3, HCI1, NH;

fafafead & § $19 HC10,4, HNO;, HC1, NH; & &9 H,S0, # &R & &4 & 1 H1
O NHj
O HCl and NH;3
O HNO;3 and NHj;

O More than one of the above ITJad & I Td I 3HfAH
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O None of the above dl-lgidd T DI T8l
Correct: +2

41 What is the ring size and no. of tetrahedral units linked together in the given silicate (Si6018)_12?

T BT HHR R F&AT 1 872 faU M Rifeibe (Sic019) 12 B T W I 5% eClesd SHiRdl &1 g&?

O 12,6

O 12,12

O More than one of the above B'Clg?ﬁ A AP I D

O None of the above B'Cﬂjiﬂ 7 PIs Tal

Correct: +2

42 Argon is used in are welding because of its 3Fi-I &1 UGN afesT & far Srar ? Fifs 78
O Low reactivity with metals eTd3f o H1Y &Y Ufafhar=id gidm g
O Ability to lower the melting point of metal HTg & Tl bl HH HIA B &
O Flammability Saei=ierar
O More than one of the above SUdad H I Tdh ¥ fUH

O None of the above G’Cl?j?ﬁ A oI5 Tal
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Correct: +2

43 ;hg gas %vglgh is used for inflating the tyres of aeroplanes is : aI§ SISl & CR! Bl BaH & forg seada 3t
qreit :

O Hp

O Ny
O More than one of the above BT@EH T TH ¥ S

O None of the above B’Cl?iTﬂ A Dls Tal

Correct: +2
44 In the manufacture of sulphuric acid by contact process the catalyst platinized asbestos may be replaced with

Gudh UfshaT gRT IR 3d & fu0 & SoR® Wifesss Teed 3 fhus Iy ufawifid f3ar o wewar

O Fe
O V,05
O More than one of the above G’C@TH 7 Uh q 3

O None of the above STJdd & ¥ 15 ol

Correct: +2
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45 The reaction of P4 with X leads selectively to P4Og. The X is : P, $1 X & T 3ifiifebar & giHar u & P40,
STRIX &

O Dry O, % O,

O Amixture of Oy and N, O, 3R N, BT fhrgor

O MOiSt 02 TH 02

O More than one of the above IUJdd & ¥ T ¥ HfAH

O None of the above Iudad ¥ ¥ ®I3 gl

Correct: +2

46 On heating ammonium dichromate the gas evolved is :3HIAH SEHIUC HI TH 1 R Feaq aeft A9 7

O Oxygen RIS

O Ammonia =71

O Nitrous oxide -TgCH 3qaTsS

O More than one of the above G'C@Tﬁ e Th T s

O None of the above ITJad & I ®Is -Tg!

Correct: +2

47 NH; and BF; form an adduct readily because they form : NH; 3R BF; 3 9 U@ Hfgieht §1d & Fifd d
CEIGEH
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O An ionic bond T& 3MaOH® d¢=

O A covalent bond T& JgTTIdh Se-

O A coordinate bond Ush IHY §T

O More than one of the above G'CPEIHH AITH T 3

O None of the above B'E@EH HA DIs Tal
Correct: +2

48 Nitrous oxide is : AlZ¢H HFSS %:
O Acidic 3T
O Basic &R
O Neutral Ig™—H
O More than one of the above BT@T:H T TS ¥ 3P

O None of the above B’Cl?iﬂ?[ H A oI5 el
Correct: +2

49 The main products of the reaction of equimolar quantities of XeFg with NaNO; are: NaNO; & Iy XeFg Pl
TR GHH A 31 Affehar & qer Iare &

O XeOFy, NaF and NO,F
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O XCOZFz, NaF, NOF and Fz

O XeOFy4, NaNO, and F,

O More than one of the above ITJdd & ¥ T ¥ HfAH

O None of the above G’Cl?j?ﬁ A DIs Tal

Correct: +2

50 Which one of the following oxides is neutral? FEfIREd & @ & W1 Sifauss SR §?

O CO

O Sn02

O ZnO

O More than one of the above B'Clg?ﬁ I UPH I D

O None of the above STJdd & ¥ I3 8l

Correct: +2
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TEST

P-Block Test

ANSWERS

SECTIONS

1. MSQs - 50 Questions

Section 1:MSQs - 50 Questions

1 Hydrogenis liberated Blgg ST H—CR‘TEPIFIT%

2 More than one of the above G'Eﬂiaﬂ 73 Uh T 3w

3 B,0;+NaBO,

4 N32B4O7. 1 OH20

7 In the presence of cryolite which forms a melt with lower melting temperature Eb"ITﬁF‘I'IE_c_' Pt JufUfd H St & i arar
IPERERIGIN

Chlorides of both beryllium and aluminium have bridged chloride structure in solid phase SRfeRH 3R q&gﬁﬁm aHl &

8 FoiRTEs § 3N s & Aq aARIES W Ed

10 Allotropes 319&qdr
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11

12

13

14

15

16

17

18

19

20

21

22

23

24

Carbon cannot expand its octet but silicon can expand its octet HIe 3T YD P fowr :‘ITﬁ D Hhdl %’ T faferpia

3T 3PP IR PR bl g

CO +H,

CO+N,

CH, +CO+H,

Hydrated sodium aluninosilicate ETS?;%_S ofgaq qaﬁ:hﬁﬁ%

(Siy05% ),

RSIClg

Hydrolysis of (CH3), SiCl, followed by condensation polymerization

(CH3), SIiCl, & STd 3{Ugc & §le YU IgaichIbRul

NH,NO,

H;PO,

Less basic ®H &R

NCl; and HC1

N,O
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25 PH; + Na,HPO,

27 None of the aboveG'CR}ITrlﬁ oy ﬁ'sc:@

28 CuCl,

29 HCIO < HCIO, < HCIO4 < HCIO,

30 2

It cannot be prepared by reacting BF 3 with LiBH,4 in the present of dry ethersﬁ W'sc?ﬁ &I Iufufa & LiBH4a5 I BF 3

31 FI 3T HP JUR el fhar o G |

32 SiC

33 NO,,N,0

34 Cyclicsilicate I fafade

35 3

36 Linear chain and cross-linked silicones, respectively SHT: X% $Raal 3R H19-feids e

37 NaIO3
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39

40

41

42

43

45

46

47

48

49

50

Ba(N3),

HN03 and NH3

12,6

Low reactivity with metals EIT@&ﬁ & Iy ®F yfafharia ETEIT %

He

V505

Amixture of O and Ny O, 3R N, T fie(or

None of the above G’CI'!EIEH oy ﬁ'sf T8l

A coordinate bond T JH-GY §&

Neutral ST

XeOFy, NaF and NO,F

CO
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